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India’s first gas exchange, the Indian

Gas Exchange (IGX), was launched as

a wholly owned subsidiary of Indian

Energy Exchange. Which of the

following statements are correct ?

1. It is a digital trading platform
that will allow buyers and sellers
to trade both in the spot market
and in the forward market for
imported natural gas.

2. It will allow trade across three
hubs — Dahej and Hazira in
Gujarat and Kakinada in Andhra
Pradesh.

3. Imported Liquified Natural Gas
(LNG) will be regassified and sold
to buyers through the exchange,
removing the requirement for
buyers and sellers to find each
other.

4.  Only inter-governmental trade in
domestically produced natural
gas is allowed at the gas
exchange.

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only1and3

(¢) Only1,2and3

(d 1,2,3and4

Consider the following statements :

1. Angola and Nigeria are one of the
largest crude oil suppliers of the
sub-Saharan region.

2. India and Angola signed a
bilateral energy  cooperation
agreement under the framework
of India-Africa Forum.

Which among the above statements

is/are incorrect ?

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2
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Recently, Pan-India Real Time Market | 8.
in electricity was launched. Which of
the following statements are correct
about the market ?

1. Real time market is an organized
market platform enabling buyers
and sellers to meet their energy
requirement closer to real time
operation.

2. The auctions will be held 50
times a day.

3. It became operational on two
platforms Indian Energy
Exchange (IEX) and Power
Exchange India Limited (PXIL).

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only 2 and 3

(¢c) Only1and3

(d 1,2and3

National Commodity and Derivatives 4.

Exchange (NCDEX) announced the

commencement of trading in the

country’s first agriculture futures
index called :

(a) AGRODEX

(b) AGRIDEX

(0 FARMDEX

(d) CROPDEX
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Consider the following statements :

1. Ezulwini consensus calls for a
more democratic security council
with a permanent seat to Egypt,
Turkey and South Africa.

2. During the recent India-— AU
Summit, Uniting for Consensus
grouping (UfC) strongly
supported India’s claim to a
permanent seat in the UNSC.

Choose the correct statement(s) :
(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

India recently announced a second
phase of Cotton Technical Assistance
Programme for African countries.
Choose the correct statements among
the following :

1. The grouping of Mali, Benin,
Burkina Faso and Chad is
popularly called Cotton-4.

2. Cotton crop is best grown
commercially in Red and
Lateritic soils in India.

3. The Cotton Corporation of India
Ltd. releases MSP for Fair
Average Quality grade Kapas
before the start of procurement
season.

(a) Only1

(b) Only1and3
(c) Only2and3
(d 1,2and3
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The All India Trade Union Congress
(AITUC), the first pan-India trade
union recently completed 100 years.

Who among the following contributed
to the formation of AITUC.

1. Lala Lajpat Rai
2. Bal Gangadhar Tilak

3. Joseph Baptista

4. N.M. Joshi

5. Diwan Chaman Lall

Choose the correct code :

(@) Only1,4and5

(b) Only1,3and4

(¢ Only1,3,4and5

(d 1,2,3,4and5

The International Maritime
Organisation (IMO) has recently
recognized Indian Regional Navigation
Satellite System (IRNSS) as a part
of World Wide Radio Navigation

System (WWRNS). Choose the correct
statement(s) among the following :

1. India has become the fourth
country in the world to have its
independent navigation satellite
system recognized by IMO.

2. IRNSS provides both Standard
Positioning Service (SPS) and
Restricted Service (RS).

3. IRNSS, like GLONASS and GPS
is a global navigation system.

(a) Only1

(b) Only 1 and 2
(c) Only2and3
(d) Only1,2and3
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The Bureau of Indian Standards has | 9,
prepared a draft standard for the
supply of piped drinking water, named
as “Drinking Water Supply Quality
Management System-requirements for
piped drinking water supply service”.

Which of the following statements are

the key features of the draft ?

1. After treatment the drinking
water should conform to Indian
Standard (IS) 10500.

2.  Adoption of District Metering
Area concept to control leakages.

3. Water audit should be conducted
on quarterly basis.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only 2 and 3

(¢c) Only1and3

(d 1,2and3

Winter Diesel is a specialized fuel

that was introduced by Indian Oil 10.

Corporation. Choose the incorrect

statement about Winter Diesel :

(a) It contains additives to maintain
lower viscosity so that it can be
used in temperatures as low as
- 30°C.

(b) It has lower cetane rating for
high performance of engines.

(c) It has low Sulphur content to
ensure lesser deposition in
engines.

(d) It is highly suitable for high
altitude and low-temperature
regions such as Ladakh, where
ordinary diesel can become
unusable.
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11.

12.

Paper | (B -

Hydropower sector cooperation is the
flagship area of Indo-Bhutan bilateral
relations. Choose the correct
statement(s) among the following with
regard to India’s investment in the
hydropower sector in Bhutan :

1. The Mangdechhu hydroelectric
project is a run-of-river power
plant being built with Indian
assistance in central Bhutan.

2. The Kholongchu project is a first
Indo-Bhutan joint
hydroelectric  project to be
implemented by Kholongchu
Hydro Energy Limited.

3. The Chukha HEP, Kurichhu HEP
Tala HEP the
hydroelectric projects of Bilateral
Cooperation between India and
Bhutan.

(a) Only1

(b) Only1and2
(¢) Only1land3
(d 1,2and3

venture

and are

Consider the following statements
regarding ‘One Nation, One Ration
Card’ scheme.

1. The scheme allows portability of
food security benefits for migrant
workers in other States.

2. Aadhar linkage of ration cards
of migrant workers is not
mandatory for availing benefits
in other States.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2
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13. Consider the following statements : 13.

1. A permanent bridge has been
built on River Ravi for connecting
Kasowal enclave in Punjab along
the India-Pakistan border with
the rest of the country.

2. This 484-meter long bridge has
been built by Border Roads
Organisation (BRO) under the
Project Chetak.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

14. Consider the following statements | ;4
regarding Styrene gas leakage

from LG  Polymers Plant in

Vishakhapatnam, Andhra Pradesh :

1. Styrene gas that is used in the
production of polystyrene plastics
and resins is normally stored as
liquid in factories.

2. Short exposure to Styrene gas
results in irritation of mucous
membrane and eye,
gastrointestinal  effects  and
inhalation problems and long
term exposure to the gas causes
damage to central nervous
system and fatality as well.

Which of the statements given above

is/are correct ?

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2
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15. JIGYASA programme of Council of

Scientific

and Industrial Research

(CSIR) is a/an

(a)

(b)

(c)

(d)

National Programme to provide
Mentorship and  Scholarship
support to interested students for
pursuing study in Basic Sciences.

Student-Scientist connect
programme wherein students
across the country are exposed to
science and technology.

Innovative programme to attract
young talent to the study of
science at an early age and to
build the required critical human
resource pool for strengthening
and expanding the Science and
Technology system and R & D
base.

New programme aimed to foster
scientific research on the effects
of yoga and meditation on
physical and mental health in
healthy people as well as in
patients with disorders.

16. Consider the following statements :

1.

‘Ajj Aakhaan Waris Shah Nu’
(Today I Invoke Waris Shah) is a
famous poem by the renowned
Punjabi writer Amrita Pritam
about the horrors of the partition
of the Punjab during the
Partition of India in 1947.

The poem is addressed to the
historic Punjabi poet ‘Waris
Shah’ who is considered as
‘Shakespeare of Punjab’ for his
literary work ‘Heer Ranjha’.

Which of the above statements is/are
correct ?

(a)
(b)
(c)
(d)

Paper |
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17. Consider the following statements : 17.

1. World Bank allocates votes for
member countries on the basis of
the share of bank’s capital stock
held by the member country.

2. India currently holds more than
5% of the voting power in the
World Bank.

Choose the incorrect statement(s) :

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

18. Which of the statements given below is

correct ? 18.

(a) The Attorney General of India is
entitled to all the privileges that
are available to a Member of
Parliament.

(b) The Attorney General of India is
a member of the Cabinet.

(c) The Attorney General of India is
appointed by the Chief Justice of
India.

(d) He must be a person who is
qualified to be appointed as
Judge of a High Court.

19. Consider the following statements :

1. The Sixth Schedule has conferred | 19
the District Councils the power to
constitute Village Councils or
courts for the trial of cases
between persons belonging to
Scheduled Tribes.

2. The Sixth Schedule  has
recognised the power of the
District Councils to impose
certain specified taxes.

Which of the statements given above

is/are correct ?

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2
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20. Consider the following statements :

1.

Matters
Unions,

concerning Trade
industrial and labour
disputes fall within the purview
of Concurrent list.

The subject of welfare of labour

including conditions of work,
provident fund, workmen’s
compensation and maternity

benefits are included in the State
list.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

21.
21. Consider the following statements :

1. With respect to the ordinary Bills
passed by the State Legislature,
the Governor is vested with a
discretionary power either to
withhold his/her assent or return
the Bill for reconsideration by the
State Legislature.

2. If a Bill passed by the State
Legislature is derogatory to the
powers of the High Court, it is
compulsory for the Governor to
return the Bill.

Which of the above statements is/are

correct ?

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2
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22.

23.

24.

Paper |

As per the Scheduled Tribes and | 22.
Other Traditional Forest Dwellers
(Recognition of Forest Rights) Act,
2006, who has the authority to initiate
the process for determining the nature
and extent of individual or family
rights ?

(a) State Tribal Department

(b) Gram Sabha

(¢) Block Development Officer

(d) Gram Panchayat

Which of the following is not a

provision of the Representation of the | 23.

People Act, 1950 ?

(a) Qualifications and
disqualifications for membership
of Parliament and State
Legislatures

(b) Allocation of seats in the House of
the People, the State Legislative
Assemblies and the State
Legislative Councils

(c) Delimitation of Parliamentary,
Assembly Constituencies

(d) Local authorities for purposes of
elections to the State Legislative | 24.
Councils

Which of the following categories of

borrowers are eligible for taking the

benefit of Priority Sector Lending
under the Weaker Sections Category ?

1. Small and Marginal Farmers

2.  Self-Help Groups

3. Beneficiaries of Differential Rate
of Interest (DRI) scheme

4. Distressed farmers indebted to
non-institutional lenders

5.  Minority Communities as notified

Select the correct answer from the

choices below :

(a) Only 1 and 2

(b) Only1,2and3

(¢c) Only2,3and5

(d 1,2,3,4and5
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(b) o=H 1,2 »3 3
(c) A=H 2,3M3 5
d) 1,2,3,4mM35



25.

26.

27.

Paper |

Which out of the following sets of | 25.
industries is not a part of the eight
core industries in India ?

(a) Coal, crude oil and natural gas

(b) Steel, cement and electricity

(c) Coal, natural gas and refinery
products

(d) Mining, metallurgical operations
and pharmaceuticals

Which out of the following has 26

been categorised as a Domestic )

Systematically Important Bank

(D-SIB) as per the recent report the

RBI ?

(a) ICICI Bank

(b) Punjab National Bank

(c) Axis Bank

(d) Kotak Mahindra Bank

Which among the following is incorrect

with respect to Payment Banks and

Small Finance Banks in India ? o7

(a) Payments Banks can accept )
deposits but have to keep the
customer balance below one lakh
rupees, whereas there is no such
restriction on the Small Finance
Banks.

(b) Payments Banks cannot give
loans or issue credit cards
whereas Small Finance Banks
can.

(c) Mobile Companies and
Supermarket Chains owned and
controlled by residents are
allowed to become eligible
promoters for Payments Banks
but this is not true for Small
Finance Banks.

(d) Payments Banks cannot sell
mutual funds, insurance and
pension funds but Small Finance
Banks can.

(B-13)

fors Geuar feg foz 393 ¢ »ic
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28.

29.

Paper |

Consider the following pairings of

Non-Performing Assets (NPA)

classification in India with their

descriptions :

1. Substandard assets Assets
which have remained NPAs for a
period less than or equal to
12 months.

2. Doubtful assets Assets
which have remained in the
substandard category for a period
of 12 months.

3. Loss assets : Assets which are
considered uncollectible and of
such little wvalue that their
continuance as a bankable asset
is not warranted, although there
may be some salvage or recovery
value.

Which out of the above pairings are

correct ?

(a) Only1and?2

(b) Only 2 and 3

(¢) Only1land3

(d 1,2and3

Which among the following is the

objective of the Cheque Truncation

System (CTS) introduced by the RBI ?

(a) To reduce the flow of cheques in
circulation by replacing cheques
with digital financial
transactions.

(b) To discontinue the flow of
physical cheques in the clearing
process by transferring an
electronic image of the cheque
with essential MICR data.

(¢c) To establish an electronic
database that helps in the
suspension of the circulation of
those cheques that do not have
the correct vital details.

(d) To build capacity to enable
interbank payments online and
facilitate Corporate customer
payments.

28.

29.

(B-14)
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31.

32.

30. Which out of the following is the
largest network of shared ATMs in
India, run by the National Payments
Corporation of India ?

(a) National Financial System

(b) National Financial Switch

(c) National Electronic Financial
System

(d) National Payment System

31.

Credit Rating Agencies in India are

regulated by which of the following

entities ?

(a) Ministry of Corporate Affairs

(b) Ministry of Finance

(c) Securities and Exchange Board of
India (SEBI)

(d) Reserve Bank of India 32.

Which of the following statements is

incorrect with respect to TReDS ?

(a) It stands for Trade Related
Discounting System.

(b) It is an initiative of the Reserve
Bank of India.

(c) Its aim is to help cash-starved
micro, small and medium
enterprises (MSMEs) promptly
encash receivables.

(d) It is an online bill discounting
platform that enables discounting
of invoices/bills of exchanges of
MSME sellers against large
corporates, including Government
departments and PSEs through
an auction mechanism at
competitive market rates.

(B-15)

Paper |
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(b) IR 3 Al

(¢) T fedaeafsa &3t ydu
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33.

34.

Paper |

Start-ups  registered  with  the
Department of Industrial Policy and
Promotion of the Government of India
are exempted from the payment of the
“Angel Tax” with conditions. This tax
refers to

(a) Tax payable on capital raised by
new listed start-up companies via
issuuance of shares where the
share price is seen in excess of
fair market value of shares sold.

(b) The tax that
supposed to pay if they receive a

start-ups were
loan at a discounted rate of
interest because of higher success
ratio.

(c) Tax payable on capital raised by
unlisted companies via issuance
of shares where the share price is
seen in excess of fair market
value of shares sold.

(d) The tax that
supposed to pay when their

start-ups were

annual income would cross the
specified threshold as per their
fair market valuation.

‘Usual  Principal Status’, ‘Usual
Subsidiary  Status’ and  ‘Usual
Principal and Subsidiary Status’
approaches are used in the

measurement of

(a) GDP

(b) Unemployment
(¢) Inflation

(d) Services Sector Growth Rate

33.

34.

(B-16)
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35.

36.

Paper |

India has been constantly negotiating | g5.

for an expansion in the trade in

services via Mode 4 as defined under

the General Agreement on Trade in

Services (GATS). Consider the

following pairings regarding different

modes of Services under GATS of the

WTO :

1. Mode 1 : Cross-Border Supply of
Services

2. Mode 2 : Temporary cross-border
movement of a natural person to
consume services abroad

3. Mode 3 : Cross-border provision
of services via the commercial
presence of a company in another
country

4. Mode 4 : Temporary cross-border
movement of service providers

Which of the above are correctly

paired ?

(a) Only1and4

(b) Only 2 and 3

(¢) Only1,3and4

(d) All of the above

Which among the following are sources | gg.

of non-tax revenue receipts for the

Union Government ?

1. Disinvestment Receipts

2.  Spectrum Fees

3. Dividends from Public Sector
Undertakings

4. Interest Received on Loans given
by the Government

Choose the correct answer from the

choices given below :

(a) Only 3 and 4

(b) Only 3

(¢) Only?2,3and4

(d) All of the above

(B-17)
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37. Consider the following statements with | 87, 393 feg yuzag IH3 HIF (CPI)
w3 JBHG oW HEA (WPD) Hedt
fors ast § fegra

respect to Consumer Price Index and

Wholesale Price Index in India :

1. The WPI is calculated for only
goods and CPI is calculated for

both goods and services.

2. The WPI is published by the
Office of the Economic Advisor in
the Ministry of Commerce and
Industry while the CPI is
published by the Central
Statistical Office.

3. The WPI is published on a weekly
basis for primary articles and fuel
and power and is published
monthly for the rest of the items,
whereas the CPI is released on a

monthly basis.

4. The WPI measures inflation in
the initial stages of the supply
chain whereas the CPI measures
inflation in the later stages of the

supply chain.

Which among the above given

statements are correct ?
(a) Only1,2and3
(b) Only1,3and4
(¢) Only1,2and4

(d) All of the above

Paper | (B-18)
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38.

39.

Paper |

Commission for Agriculture Costs | 38.

and Prices (CACP) submits its

recommendation  for  MSPs of
agricultural commodities in form of

Price Policy Reports.

Consider the following statements :

1. CACP is a statutory body formed
under Agriculture Price
Commission Act, 1962.

2.  Currently MSP is devoid of any
legal backing except for
Sugarcane to some extent.

3. Before submitting Price Policy
Report for any crop, CACP also
analyses demand and supply and
the implications of MSP on
consumers of that product along
with the costs of production.

Which among the following statements

is/are incorrect ?

(a) Only1

(b) Only1and3

(¢) Only1,2and3

(d) None of the above

Some suggest that India needs to

move to an escrow-based payment

mechanism to ensure a fearless | 39.

business environment in the country.

Which of the following correctly

describes an escrow account ?

(a) A third-party bank account for
safeguarding the buyer from the
risk of seller defaulting on the
quality of goods and services.

(b) A bank account wused by
individuals/firms for routing the
funds through tax havens for the
purpose of tax evasion.

(c) A third-party bank account for
safeguarding the seller from the
risk of the buyer defaulting on
the payment to the seller after
having received the goods and/or
services.

(d) None of the above

(B-19)
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40. The Mineral Laws (Amendment) Bill,

41.

Paper |

2020 has recently been passed.
Consider the following regarding the
same :

1. With the introduction of this Bill,
companies which do not have any
prior coal mining experience in
India can also participate in the
auction of coal blocks.

2. Private companies will now be
able to undertake coal mining for

commercial mining purposes,
thereby ending the captive
end-use criteria.

3. A composite license namely

Prospecting Licence-Cum-Mining
Lease has been introduced in the
Bill.

4. The revenue sharing model
detailed in the Bill is based on
recommendations of an expert
committee headed by Injeti
Srinivas.

Which of the above are true ?
(a) Only2and3

(b) Only1and3

(¢) Only1,2and3

(d) Only 2, 3and 4

Consider the following pairings of the

names of Government initiated portals 41.

and the area/industry with which they

are associated :

1. Sambandh : MSME

2. Prakash Portal : Coal Industry

3. Government e-Marketplace : For
procurement of goods by the
Government

4. E-Nam portal : Agriculture

Which out of the above are correctly

paired ?

(a) Only 3 and 4

(b) Only 2, 3 and 4

(¢c) Only1,3and4

(d) All of the above

(B-20)
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42. Consider the following statements with

respect to the Export Preparedness
Index, 2020 :

1.

It was published by the NITI
Aayog in partnership with the

Institute of Competitiveness.

It examines the export ecosystem
of Indian States

Territories.

and Union

Policy, Business Ecosystem,
Export Ecosystem and Export
Performance are the four pillars
of the

Index.

Export Preparedness

emerged as the
in the
‘Coastal States’ category, followed
by Kerala and Tamil Nadu.

Gujarat
top performing State

In the category of ‘Landlocked
States’, Madhya Pradesh is the
best performing State. Among
‘City-
States’, Himachal Pradesh and
Delhi

States respectively.

‘Himalayan States’ and

are the top performing

Which of the above statements are

true ?

(a)
(b)
(c)
(d)

Paper |

Only 1,2 and 3
Only 2,4 and 5
Only 2, 3 and 4

Only 1,4 and 5
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43. According to

44.

Paper |

the World Bank’s
classification of economies into income
groups (on the basis of GNI per capita
using the
rates) for the 2020 — 2021 fiscal year,

India falls in which of the four incomes

Atlas method exchange

groups described below ?

(a) Low Income Country

(b) Lower-Middle Income Country
(c) Upper-Middle Income Country

(d) High Income Country

Consider the following products :
1. Phulkari

2. Katarni Rice

3.  Sirsi Supari

4. Chanderi

As of the
Geographical Indicator (GI) tag for

now, Punjab has

which of the above products ?
(a) Only1l

(b) Only 1 and 2

(¢c) Only1,2and4

(d) Only1and3

43. fere ¥ @ wigfgas= & »HEs

44.

(B-22)
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45.

46.

Paper |

Mesothelioma is a malignant tumour

that is caused by
1. Cadmium
2.  Arsenic

3. Asbestos

4. Lead

Select the correct answer using the

code given below :
(a) Only 2

(b) Only1and4
(c) Only2and3

(d) Only3

Three-way catalytic converter is used

in vehicles to reduce

1. Unburnt Hydrocarbon
2. Carbon Monoxide

3. Nitric Oxide

4.  Sulphur dioxide

Select the correct answer using the

code given below :

(a) Only1,2,and 3
(b) Only1, 3 and 4
(c) Only2,3and4

(d) Only 3 and 4

46.

(B-23)
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47.

48.

Paper |

Statements about Terrestrial laser | 47.

scanning are given below :

1. It is a measurement technique
that can acquire millimeter-level
of detail from the surrounding
area.

2. It allows rapid, automatic and
periodical estimates of many
important forest inventory
attributes.

3. It measures the surrounding
three-dimensional (3D) space.

4. It is a satellite-based technique
that ensures precise standard
surveys.

Which of the above given statements

are true ?

(a) 1,2and3

(b) 1,3and4

(c) 2,3and4

(d 1,2and 4 48,

Read the following and choose the

correct statement(s) :

1. The Pacific nation of Palau
became the first country to ban
“Coral reef-toxic” sunscreens.

2. Chemicals like oxybenzone and
octinoxate that are present in
most of the sunscreens, absorb
UV light and are thus harmful to
the Corals.

Choose the correct option :

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

(B-24)

e I

1. feg f&x HuEs & 36T I A
WHUH © 839 T fHéhiles 3=
T fers™9 Y3 &9 Aot J |

2. f&g IE HI3YIS TT AT €
J& T 3, AI®3 M3 AN
SHATST WEHS Barg et J |

3. feg wirAuH 35 Udt (351) &f 3
fueet T |

4. feg Sugfo 3 nmufes sasta I
7 893 ACSTs Auen § wad
TIEET T |

B3 fed’ fauz™ 86 AIT T ¢

(a) 1,23 3
b)) 1,3mM3 4
() 2,3mM34

d) 1,273 4

fors & ug w3 At FEs TT ¢

1. Udtfeq IHeT usg ufsw =n
gfent far & ‘9% die wet
Afod&” AeAIIIaT I 9 waret

J |

2.  gg3ort ASAIII S feg
n ﬂ\ = 'YH% 0 ﬁ‘a ~
TJ9 IATEE Fge I¢ 96 A @R

fFIat § ESHAS IIS AIG BT
BT &€ IS |

Adt feamy 93
(a) o= 1
(b) o=H 2
() 1n32eT

(d) d1M3 32



49. Read the following and choose the

50.

51.

Paper |

correct statement(s) :
Statement I :

The Himachal Pradesh State
Government is to develop India’s
first Snow Leopard Conservation
Centre of India. The Centre is to be
developed by the Himachal
Pradesh Forest Department and
the United Nations Development

Programme (UNDP).
Statement II :
Global  Snow  Leopard and

Ecosystem Protection Programme
(GSLEP) is an inter-governmental
alliance of all 12 snow leopard
range countries.

Choose the correct option :

(a) Both statements I and II are
correct

(b) Statement I is correct
(¢) Statement II is correct
(d) None of the above

50.

The symbol of Indian ecomark is

(a) Earthen pitcher

(b) Straw basket

(c) Earthen lamp

(d) Bamboo pot

Which among the following statements 31.

is/are correct about the Palas ?

1. The Palas were ardent followers
of Jainism.

2. The Palas founded the
Oddantapuri University from
where the missionaries went to
Tibet to spread Jainism.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

(B-25)

49. foHs 3 UZ i3 3 qE6 TL

(Snow
Leopard) I&Ad<Hs Red feafAs
FJat | g aed foHgs yer ©
T fegar m3 gorfees aHs
fgesuie Yoo (g.os.staf)

g7 feafAs 3T Ar<ar |

G5 11 :
I%gw Ao fsBuds w3 fe&d
fAAeH YoSHS YaraTH

(AoAMSSdRr) A9 12 Ao
f®8Uds (Snow Leopard) I ©H
T nizg-AIIT A T |

AJt fea®y 92 :

(a) TS I3 I < At T5

(b) @& I AT

(¢) =E& II At I

(d) B3 feg a=t &t adt

3793t feaH9x = Y3 J

(a) fHST T w3 (Earthen pitcher)

(b) €H ot daat (Straw basket)

(c) fHet = &= (Earthen lamp)

(d) IH € IH& (Bamboo pot)

fors fog8 us gt 99 a0z IEs

AIT 3/T% 2

1. U® JI9 196 H3 T AY3 nigdret
HS |

2. uym It & 833Ut
feaefefonmm®y & J9&7 oI3t
fag" fHAedt 7 W3 © I ®Tr
fSE3 3T e |

fors ozt § TI3feont ARt 839 9% .
(a) o<&® 1
(b) oA=LH 2

() 1w 28
(d) & 1M3 32



52.

53.

54.

Paper |

Which among the following | 52.
statements(s) is/are true about the
Mughal rule under Akbar ?

1. Akbar opened the Ibadat Khana
to people of all religions; Sufis,
Shias, Christians, Jains and
atheists.

2. Akbar issued the Mahzar-nama
to take all religious matters in his
own hands.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

In the Indian Freedom Struggle, who | 53.

among the following revolutionaries

carried out their activities from
abroad ?

1. Raja Mahendra Pratap

2.  Maulana Barkatullah

3. Lala Hardayal

Select the correct answer using the

code given below :

(a) Only1and2

(b) Only 2 and 3

(c) Only3

(d 1,2and3

Which of the following initiatives

was/were taken by Sher Shah Suri to

promote trade and commerce ? 54.

1. Introduction of gold, silver and
copper coins of uniform standard.

2.  Restoration of the Grand Trunk
Road.

3. Simplified the custom duty
structure.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Only 1 and 2

(d 1,2and3

(B-26)

WIEd © MUs HI® FTHG © AX 99

fors sast feg fags™ At /a5 2

1. g9 & s 37 Ad UM ©
WESTHSTT St Bt ufen |

2. WAEd & AY UIHI HHIEnT §
WUE Jg feg & BT HIHT A7HT
gt 3T |

fors st § TI3feni A 837 9T -
(a) A=<H 1
(b) o=TH 2

() 1w3 28
d 3T1MIE2

I3 miget € AwIR feg fors
ISHedntt g&rsnt 9

1. I HIET Y3

2. H&er g9x38mT

3. & I

fors a5t § TI3fen A 6837 T2 .
(a) o=® 1 M3 2

(b) o=H 2 M3 3

(c) o= 3

d) 1,273 3

HI H'J BT & 2UTT W3 TH € IJat

et fors feg faa3 U3 mes AG 2

1. A&, I »3 379 2 £ Jug @
frfamtt €t ggn™s |

2. JID I I8 T HITTH! |

3. JHACH &d 339 € AIHAIS |

fors ozt § TI3feont ARt 839 9% .
(a) A=H 1

(b) o=H 2

(c) A=H 1 M3 2

d) 1,273 3



55.

56.

Paper |

Sangam texts suggest several stages | 55.

of social evolution of Tamil people. In

this context consider the following

statements :

1. The narrative texts show that
Tamil people of the times were
primarily pastoral.

2. No reference to trade and
economic activities has been
made in these texts.

Which of the statements given above

is/are not correct ?

(a) Only1

(b) Only 2

(c) Both 1and?2

(d) Neither 1 nor 2

Which of the following was/were found 56.

in Mohenjodaro ?

1. Bronze Image of a dancing girl

2.  Steatite image of a bearded man

3. Terracotta figurine of Mother
Goddess

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Only1and3

(d) 1,2and3

(B-27)

HAaH J9&<f 3ITH® B T AWM

fea it A3 nieAg=t g38Tmt

J5 | fem yAar feg foHs aEst @

IEEICER

1. fa933a Jga<t fouBdhi I
fa at Afimrt © 3fH® B vy
39 3 Ug USRI I AS |

2. fEgt Jge=t feg =ug w3
nafes aifsfednt & It gemmr
&It fHser |

83 feg fag3™ q8s ATt &t I/5 2

(a) o<® 1
(b) oS 2
() 1m3 2%

(d) 3 1M3 32

Hdneg feu foHs feg o Sfanm At ¢

1. foez ot &I & fUs®
(Bronze)é)r);fa?

2. T3 T MeEHt T RAlletEe
(Steatite) HJ3

3. JJdeT (Terracotta) & HT @< ot

HI3
fors ozt § TI3feont ARt 839 95 -
(a) d=5 1
(b) d<H 2

(c) dA=% 113 3

d 1,233



57.

58.

Paper |

With reference to the medieval history | 57

of India, the terms ‘Dahsala’, ‘Batai’

and ‘Nasaq’ are related to

(a) branding of horses with imperial
marks by Samudragupta

(b) rituals conducted during
coronation of a new Gupta king

(¢) land revenue systems during
Tughlaq dynasty

(d) land revenue systems during
Akbar’s reign

Consider the following statements

regarding the administration under

Chola Empire : 58.

1. The Ur and Sabha were village
assemblies mentioned under
Chola inscriptions.

2.  The village affairs were managed
by executive committees which
were open for all.

3. The Dravida style Brihadisvara
Temple at Tanjore was built by
Rajendra I.

Which of the statements given above

is/are correct ?

(a) Only1

(b) Only1and3

(¢) Only 2

(d) Only1,2and3

(B-28)

393 & Hodwis fefsor € Agg feg

s w3 FHe oA &%

TTH BT,

AIfU3 95
(a) FAHEIIUI Tnfigr ufsni @ €3
7t formst € saerst

(b) 3 JUIT IH T IA 3% AN =7
IIH I3

() 3I®I SH ¥ AN ©J6 AHG &
HArs T YT

(d) NIEI & AN €96 THIG © e

o YEy

FEst g feur

1. B nw3 Fz7, 9% ye<et feg
fag =13 fls = feds 7o |

2. Tz T HHS IIAaTdt IHIT,
H A & Y&t AS @ HE
7 75 |

3. Jfaed I ¥ ©nfar 3ang foo
vfes R = fgoeferear Hfes
gaarfenT famir A |

83 feu fxoz™ IE@s At I/as 2
(a) d=5 1

(b) =B 103 3

(c) o= 2

(d) d=eB 1,2 M3 3



59.

60.

Paper |

Which of the following statements | 59,
is/are  not  correct about the
Vijayanagara kingdom ?

1. The Vijayanagara kings
maintained complete separation
between religion and
administration.

2. Land revenue was the main
source of income.

3. Administration of the villages
was  carried out  through
hereditary officers.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only1

(¢c) Only2and3

(d 1,2and3

With reference to the | 60.

Udaigiri-Khandagiri caves, which of

the following statements is/are

correct ?

1. They are examples of the rock-cut
cave tradition.

2. These caves have inscriptions of
Kharavela kings.

3. The caves were primarily meant
for Buddhist monks.

Select the correct answer using the

code given below :

(a) Only 2

(b) Only1and3

(c) Only1land?2

(d 1,2and3

(B-29)

ferHadld A%363 99 foHs faus a8
It &t I/ 9

faSEN

1. fersdag € I & UdH wi=s

b) =B 1
(c) o<H 23 3

d) 1,273 3

gefarct-usTfaat areret g9 fors Est

fes fogz™ ATt I/T5 7

1. feg ygg o ger udugr
8Trgds’ I5 |

2. feg ge=t yaem It It
yorEt it BeTadst 95 |

3. fgg ge=t yA 93 Ut A3 T
BET AS |

fors st § TI3fen At 83T T2 .

(a) OB 2

(b) dA=H 1 W3 3
(c) A% 103 2

d 1,233



61.

62.

Paper |

What important influence did John | g1.

Locke, Baron de Montesquieu,

Jean-Jacques Rousseau and Voltaire

have on the United States ?

(a) They were Europeans who came
to help the Americans fight the
British in the Revolution.

(b) They were European political
thinkers who influenced the ideas
of American leaders at the time
of the Revolution.

(c) They were Europeans whose
inventions sparked the American
Industrial Revolution around
1800.

(d) They were European
philosophers who met with
Thomas dJefferson to draft the
Declaration of Independence. 62.

From dJuly 17 to August 2, 1945,

leaders from the Allied nations met at

the Potsdam Conference to decide the
sanctions to be put in place against the
recently defeated Nazi Germany.

During the conference, the decision

was made that certain industries in

Germany would be

(a) brought back to their pre-World
War I levels.

(b) governed by the forces occupying
the country.

(c) disabled in order to destroy
potential for war.

(d) revitalized because the war had
damaged them.

(B-30)

HJ6 B, I96 T HocAfag, s man

JH N3 BT T Yorfees ACeH 3

fqI3T HISTH& ys< At 7

(a) feg G ot As & =t feo
viggrt  fedu  nnadtelntt &
AITEST B mE A |

(b) feT BT gt Iwalfsx 93 He
faat & i3t T AX Tt 3=t
¥ fegat § ysfes oisT |

(c) %U@UW%WW&W
& 1800 T YWHUH nHIH
getifoa it § fardt ot |

(d) f&g 8T gt ToAfsa HE

il

(for Pl (for Y

Afd@d IHeT € 33T 17 goEr I
2 WATAS 1945 34 UCAS™M XGESIA
feg 78 I9 & AIHST 3 I HIBE
T SRS Aadt WS | I&eIH ©96 IF
oo famrr |
(@) I3 fopfes Gevar yge-fere
Tu I © Jug 3 fonffe a=dr |
(b) =z forfos Geva €3 =7 fou
JEgg I3 @9 IH AT

H=ar |
(c) WU & HIR& § U3H I96 HEr
H=ar |

d) U &% IT FIAG AIE T
o gggr
ASSIAIE o137 Ar<dlr |

I fa) oS .
IVAICES ST




63. Match the following :

64.

65.

Paper |

List I List IT
(Personalities) (Misls)

A. Jai Singh I. Nishanwalia

B. Hira Singh II. Kanhaya

C. Dasaundha Singh III. Nakkai

D. Naud Singh IV. Sukerchakia

A B C D

(a) 1II III I v

(b) 1 II 111 v

(c) IV III II I

(d II I 1AY III

Maharaja Ranjit Singh gave grants to
the following religious places :

(a) Harmandir Sahib, Amritsar 64.
(b) Sachkhand Huzoor Sahib,
Nanded

(c) Vishvanath Temple, Benaras

(d) All of the above

Consider the following statements and

choose the correct one(s).

1. As per 2011 census, the percentage | 65.
of agricultural labourers constitute
more than 30% of total workers in
the State of Punjab.

2. In 2019, Punjab had nearly
25 lakh hectares under Basmati
which is less water consuming than
other varieties of paddy.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

(B-31)

7ol I Fol 1T
(FYHZT) (A7)
A, 7 fRw 1. fegeeshnr
B. dtgr fRw II. I&JST
C. THT fRw 1. 3t
D. &u fAw IV. BadQaimT
A B C D
(a) II m I v

(b) I IT III v
(¢ IV III II I
(d) 1II I v II1

Ho9T I3 fAw & fons oafhx
(a) dIforfes Afos, »ifysAg

(b) HYHS Tgd AJY, 5EF

(c) femesw Hfeg, g&9nA

(d) a3 A

1. 2011 €°r H?Jamwzﬁ WEHTI,

st HaTat & IH T IS THT
feg' 30% 3 U YSHISTT T |

2. 2019 fog ¥ag feg 25 &y IInd
TRHST ©F faaet It farer $%
it gAdt ot &% ust &
quz ue J |

(a) d=B1

(b) O=TH 2

() 1m3 2%

d) 3 1m3 32




66. Match the following pairs : 66. foHs det & feorg :

State Dams and SH W3
Reservoirs ckz FragengT
Lolade S S| g e
2. Andh Bargi D ik
. ra — Bargi Dam . ~ -
Pradesh 2. MUJT YeT, — gr3dt 3H
3. Tamil Nadu — Sholayar 3. 3IH®s 3 _ Hiena
Reservoir faggenta
Which of the pairs given above are 83 del feg” faoz Adt fime T 2
? ~
correctly matched ? @) =51
Only 1 ~
() Only b) =T 2
(b) Only 2 -
d (©) =53
(¢) Only3 -
d 1,233
(d 1,2and3

67. Consider the following statements 67. &% ure @rd & qHET g ISTT

about Thal Ghat : 1. fem & a9 we & fqor #7er

1. Itis also called Kasara Ghat. J | )

2. Ttislocated in Maikal Hills. 2. feg Haw ugst feg AFEZ T

3. Bhusawal-Kalyan railway line 3. gATB-IEAE IBe Ffes fem
traverses through it. T g R2uEt T

Which of the statements given above Sug nifas IEst fog fgs 7 3 ¢

are correct ? - -
(a) dA<HB 1 M3 2
(a) Only1and2
(b) Only 2 and 3

(c) Only1and3

(b) dA=®H 2 W3 3
(c) d<B 1 M3 3

d 1,203 3
(d) 1,2and3
68. Which among the following is a | 68 LI G COEY TOHTE B3
Glaciatic Wetland ? (Glaciatic Wetland) J 7
(a) Nilnag in Kashmir (a) TAHIT feg d®a™
(b) Chandertal in Himachal Pradesh (b) foHe® yor feg I9T93%
(¢) Rudrasagar in Tripura (c) f?:’};l?i‘r feg SELIGIS)
(d) Loktak in Manipur (@) Hatyg feg a3

Paper | (B-32)



69. Choose the correct statement(s) :

70.

Paper |

Statement I :

Wild water buffalo is majorly
found in North-Eastern and
Central India.

Statement II :

The Indian landscape is home to
more than 85% of the Wild water
buffalo population.

Choose the correct option :
(a) OnlylI

(b) OnlyII

(c) BothIandII

(d) Neither I nor II

Choose the correct statement(s) :

Statement I : 70.
Corals are an endangered marine
species and protected wunder
Schedule I of Wildlife Protection
Act, 1972.

Statement 11 :

Rhizangiidae, Caryophylliidae
and Dendrophylliidae are the
names of Coral families, recently
in news as the Maharashtra
government gave permission to
translocate some coral colonies in
order to build a coastal road to
ease traffic congestion.

Choose the correct option :

(a) OnlylI

(b) Only II

(c) BothIandII

(d) Neither I nor II

(B-33)

69. AT JE5 $ TE

o851 :
Tfews Teg ge&% (Ut < Adsr
ge®) fmmess G39ysdt »E
gt 3793 feg fHeet T |
g4 11 :
93t gy AAT & 85% 3 =W
Tfews Teg ge&% (Ut < Adsr
Ie%) T AGHENT T W J |

Adt feamy 9%
(a) o= 1
(b) A=HII

) Iw3IIes
(d) & In3 s Il

AT 786 § 9T ¢

G5 1 :

JI9% ¥3d feg wEt Adedt
YAt g6 i3 feg ofews wiee

YIHe nide, 1972 € nigEel 1
dls gIfemi3 I8 |

g5 11 :

fIaadaw, JdiGefedtsn 3

IBISTESEN, dI% $37 T & Is H
g% It feg HITHST AIX9 ©

cdfed © AHwe 3 weSE ®er

3ce93t ASX © oA & 9%
FAST & TAIT 8 3 @A8T < fast
irfamT 95 yagt feg A% |

Adt fed®y 98 :

(a) A=H 1

(b) A= 11

) Iw3IIex
(d & In3 s Il



71.

72.

Paper |

The COVID-19 pandemic has exposed | 71.
the vulnerability and plight of sex
workers across the world.

Which among the following statements

are true about the recent advisory

related to sex workers issued by

NHRC (National Human Rights

Commission) ?

Statement I :

NHRC advised to change the
current statutory status of sex
workers from ‘informal workers’
to ‘Women at work’.

Statement II :

The advisory says that such
workers may be provided benefits
on humanitarian grounds that
are entitled to informal workers.

Choose the correct option :

(a) Onlyl

(b) OnlyII

(c) BothIandII

d) NeitherI II

(d) either I nor -

Choose the incorrect statements :

1. The Mediterranean lands account
for more than half of the world’s
exports of citrus fruits.

2. The Olive tree, native to the
Mediterranean region is a very
soil sensitive tree and thrives
only in well drained earth.

3. France leads the world trade in
fresh grapes with more than 90%
share.

4. Cork Oaks are typical species of
Mediterranean Evergreen forests.

Choose from the code given below :

(a) Only 2

(b) Only1and2

(¢c) Only2and3

(d 1,2,3and4

(B-34)

Jfes-19 HIHET & HA
IIxgt & IHAd AfEST
fenter |
IHSI  HeSt  wniftuad IfHAS
(ME T MI.HAL.) T AdH <Jadr
g3 A9 AST get 9 fors fev
fao3 sgs ATt I5 2
851 :
WEWTMI. AL, & AIH IIAIT &
AR Tgal I3F T I9-IAHT
Ufgedss < Awg 3t T |
85 11 :
ASgadT Ifdet I fB(fE?F %’EB(ET

EN
d HdJH

ATIHE

"O'Ia Pl

JIIAHT T B GdT IS |
AJt fea®y 92 :
(a) o= 1
(b) o= II

3. WW%%H—@M%H%%
3 Iy fJAedt % 29H A8 I
Hadt I |

4. JdIx B ASledamis ATEII

It <t =f e yast T |
(a) oS 2

(b) o<TH 113 2
(¢c) dA=H 23 3
d 1,2,3n34



73. Choose the correct statements :

1. The gentle slope of continental

of Grand Banks
Newfoundland is

shelves
one of

reasons for it to emerge among
the largest fishing grounds of the

world.

2. Both pelagic and demersal fish
are caught commercially here.

3. Cod is the chief fish caught in the

Grand Banks.

4. St. John’s, Halifax and Yarmouth
are chief ports of Newfoundland
from where the fish is exported.

Choose the correct option :
(a) Only1

(b) Only1and3

(¢) Only1,2and3

(d 1,2,3and4

74. Choose the incorrect statement :

1. Sea of Galilee is an example of
lava blocked lake in the Jordan

Valley.

2. The Tafilalet Oasis in Libya is
surrounded by a wall to keep out
the dust storms, locally called as

simooms.
Choose from the code given below :
(a)
(b)
(c)
(d)

Only 1

Only 2

Both 1 and 2
Neither 1 nor 2

Paper |

73.
of
the
74.
(B-35)

1. fo€ e@3®3 € I9IF oA €
Soctea% HA%E df IBA BHE
fer © fege @ A9 3 I3 HEr
T35 T femfant feg’ 839w =
fex o9& T |

2. USfAax w3 SHIA® HEl Sudd
39 3 feg <t At I

3. o3 JJ3 ¥oA feu <3t AT TH
e Het J 1

4. fo€ =B3¥3 It AT F9s54,
fogums Jev T |

Adt fea®u g

(a) A=H 1

(b) =B 1 M3 3

(c) O=% 1,203 3
d) 1,2,3n34

[

I%3 FES S Ue ¢

1. A nie J&E T936 Tt feg
BT 9¥3 (Lava Blocked) S1%
= feq era9s T |

2. fodnm AfE3 2Etoec GoHMA




75. Consider the following statements :

1.

The Medical Termination of
Pregnancy (Amendment) Bill
2020 seeks to amend The Medical
Termination of Pregnancy Act,
1971.

The Bill sets up State level
Medical Boards to decide if a
pregnancy may be terminated
case of

after 24 weeks in

substantial foetal abnormalities.

The Bill specifies that survivors
of rape, victims of incest and
other vulnerable women like
differently abled women and
minors will now be able to opt for
abortion up to 28 weeks on the
advice of two doctors.

Choose the correct statement(s) :

(a)
(b)
(c)
(d)

76. Consider the following statements : 76.
1. Odisha recently launched “Drink
from the tap Mission-Sujal” to
ensure the supply of quality
drinking water to the people.
2. Odisha achieved the target of
100 percent household water
supply connections in 2020.
Choose the correct statement(s) :
(a) Only1
(b) Only 2
(c) Both 1and 2
(d) Neither 1 nor 2
Paper | (B-36)

Only 1

Only 1 and 2
Only 1 and 3
Only 1, 2 and 3

75. foHs FEst g feus ¢

1.

T ASa® cIHIBAG Mie UIdIS AT
(Fo) fo® 2020, © RSES
1971 €t AU dJaT gder J |

feg faw I Judt REE® 98
AU F9er I A I
24 T3t T gme  glonet
VATISRT 96, H3H ST A<
7t adt = fogs F9ar |

feg fos TR T f& T®3a9
ﬁw@s'a?ﬂérm@ ﬁawm—c'

(o7 By (tes 3

&3t & 2-020 T8 100% Yy3tH3
USY U B AUSTEN © FodAHG
T AT YUI AT |

AdT FEST § 9T ¢

(a)
(b)
(c)
(d)

=% 1
=B 2
173 2 ¥
31 M3 &2



78.

79.

77. Which Article of the Constitution | 77
provides that it shall be the endeavor

of every State to provide adequate

facility for instruction in the mother

tongue at the primary stage of
education to children belonging to
linguistic minority groups ?

(a) Article 349

(b) Article 350

(c) Article 350 A

(d) Article 361 A

Choose the incorrect statement among 78.

the following :

1. The Hausa are a primarily
pastoral tribe of Nigeria for
whom cattle is a symbol of
wealth.

2. The Bindibu of Australia are
primitive hunters and prefer to
stay near the source of water.

(a) Only1

(b) Only 2

(c) Both1and?2

(d) Neither 1 nor 2

As part of ‘Vaccine Maitri’ policy which 79

of the following countries became )

first recipients of the Made-in-India

COVID-19 vaccine.

(a) Nepal and Bhutan

(b) Nepal and Maldives

(c) Bhutan and Maldives

(d) Bangladesh and Bhutan

(B-37)

Paper |

Afeus T fJa3T migee HIEhT Jae
J fg g9 9w <t feg IfFF J=9t fx
vergr feg W3 few  uzTEt
FIe8T B ga=mt Afeur=t 22dr |

(a) NBET 349

(b) niBET 350
(c) "Mde< 350F
(d) nieE< 361F

fors feg” %3 qE86 9T

1. JA (Hausa) oTfedtdmr =t Hy
33 3 Ug USH ST I 7 ugnft
3 U5 ¥ ySia =n fegger 7 |

2. f8<1g (The Bindibu) »ACISMT

T M3 yI3s st 96 mi3 Ut
T B3 ¥ 33 Jfoe ¢ ufos fée
T5 |

(a) d=% 1

(b) o=H 2

() 19328
(d & 1M3 32

feg” fagz ©7 393 feu st afes-19
IfHs © A8 3 Ufa® YUz 5937 52 ¢
(a) WW@W

(b) BUS M3 HHTIL

(c) 36 N3 HEEIR

(d) FIEH »3 I



80. Recently

81.

82.

Paper |

again in  controversy,
Jallikattu, is the bull taming
traditional sport of which Indian
State ?

(a) Tamil Nadu
(b) Kerala
(c) West Bengal

(d) Karnataka

Which among the following nations,
owing to its steady economic growth,
has recently graduated from the UN’s
official list of Least
Countries (LDCs) ?

Developed

(a) Maldives
(b) Samoa
(¢) Palau

(d) Vanuatu

Which of the following is not a foreign
bank in India ?

(a) Citi Bank
(b) Standard Chartered Bank
(¢) Federal Bank

(d) HSBC

80. o® df, feee feg feg fust AR

81.

82.

(B-38)

fro@s & 393t us, #dlae, fxo=
IH & ydts v T 7

(a) 3THBES
(b) SIH

(c) UsHt dars
(d) ddI&cAT

gns. & Ag 3 ue feais ©F
(3. 3TH) & Aeadt met fes faos
TH MUE Afg miafax feam 98
g9 859 nifenr I 2

(a) HHEed
(b) HHMT
(c) uU®Q
(d) <=Mz

fEat fog' fagzm 393 feu feort &%
&3t T2
(a) At &

(b) HAISIS 92T I
(¢c) <3I% TA

CARRZERZI:R: IRz 18



83.

84.

Paper |

In view of a recent Supreme Court | gg
order, consider the following features
of coastal regulation zones in India as
per the CRZ Notification :
1. CRZ-1: Exploration and extraction
of natural gas is permitted
selectively.
2. CRZ-2 : Unauthorized structures
are allowed to be constructed in
this zone.
3. CRZ-4 : Fishing is permitted in this
zone.
Choose the correct matches :
(a) Only1and2
(b) Only 2 and 3
(¢c) Only1and3
(d) Only 2
Which of the following organisms
is/are considered as “Benthos” biotic 84
community ?
1. Starfish
2. Beetles
3. Oysters
Choose the correct answer using the
codes given below :
(a) 1and?2
(b) 2and3
(c) land3
(d) None of the above
(B-39)

I% It feg d¢ AUdH d9c @ fex

NN

A% € U9 3 H.I.H8. niftges'

[

6

fal [a} i >
MAOHTd J7d3 Isd 3c<d3l JIHBHA

T3 fors ferms=t g fegd :

1. H»aAs.-1 : Fedst JF o
gee U feg ¥7 w3 foam &
g I |

2. HLoa.as.-2 fer de feu
manfusfds Adgs’ BAGs <
mfamr I |

3. HIn9as.-4 fer d5 feg
Het gge &t nirfamr 3|

At 73 9T :

(a) o=® 1 M3 2
(b) o=H 2 M3 3
(c) o=® 1733

(d) oS 2

fors et feg “Segr” dfex mHefe
fSg far & As Hfonm Afer T 2

2. Hics

3. niTHCIH

(a) 1732

(b) 233

() 1mM33

@ B3 feg' =t ot



85.

86.

Paper |

The World Health Organization has
declared Africa wild polio-free. The
disease is now found only in which of
the following countries :

(a) Afghanistan and Pakistan

(b) Afghanistan and Kyrgyzstan

(¢) Uzbekistan and Pakistan

(d) Kyrgyzstan and Uzbekistan

Which of the following statements are

correct ?

1. The DNA Technology (Use and | 86-
Application) Regulation  Bill,
2019 provides for the regulation
of use of DNA technology for
establishing the identity of
certain persons.

2. DNA is made up of 26 pairs of
chromosomes and provides
instructions for building an entire
organism and proteins.

3. DNA is composed of two chains,
which coil around each other to
form a double helix carrying the
genetic instructions used in the
growth.

4. Under the Bill, DNA profiling
is allowed only in respect of
criminal matters.

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only 2 and 3

(¢) Only1and3

(d 1,2,3and 4

(B-40)

85. feme fAOS FAdcs =@ nedld 3

Tfews USIG-Ha3 niefen 77 daT
I | feg gust gT o=w foHs feo
(a) MTITBTASS W3 UTIA3S

(b) MSIABAIS M3 faIfaA3™S
(c) Bagfars™ »3 ufars™
(d) foafommAss »3 8agfarss

foHs aEst feg fags ATt T 2

1. Stwa? 3FBI (FIS 3
fegg) JqoAs &%, 2019 I3
fenaSnt & Aews § AETUS
II5 BTt FodE. I3b ot

293 € IIBHG 9 J |

L NN

2. SIWEE. IIHOHT T 26 df =T
gform § w3 fex-yg e »3
ycts © foaws @t gerfest
HIET J9e7 J |

3. FINEE. € I3 I 9339 T A
I5 fa 399 Ifsan g=@e J5 #
fea Bt Fofeq Aoe It T |

4. fo® T ndls J=®% rudox
HHfEn feg Stid.E. yerfefea
T nrfamr T

fors ozt § TI3feont ARt 839 9% -

(a) o=® 1 M3 2

(b) dA=H 23 3
(c) dA=®% 113 3
d) 1,2,3n3 4



87.

88.

Paper |

Recently, the Union Minister of

Commerce and Industry launched

National GIS-enabled Land Bank

System. Which of the following

statements are correct about the

system ?

1. The platform is created to provide
database of industrial clusters
over South India.

2. The information available on the
platform includes information
about forest, drainage, raw
material heat maps (agriculture,
horticulture, mineral layers) and
multiple layers of connectivity.

3. It will help India in achieving its
target of 5 trillion USD economy
in five years by providing
transparent mechanism of land
identification and procurement.

Select the correct answer using the

code given below :

(a) Only1and?2
(b) Only 2 and 3
(¢c) Only1and3
(d 1,2and3

Consider the following statements :

1. Pratheeksha is India’s first
Marine Ambulance launched by
Kerala Govt.

2. It aims to save the endangered
Indian Mackerel and Olive Ridley
Turtles from poachers off the
Kerala Coast.

Choose the incorrect statement(s) :
(a) Only1

(b) Only 2

(c) Both 1and 2

(d) Neither 1 nor 2

(B-41)

87. % df ¥ feg, =u9 n3 Gedda ©

JTdt W39t & IHeIT AtorEtaA.

festaws 85 ¥ fAmeH (@t &%

ygn) gefenr I | fens e fem ydu

g9 fadzs J86 At I8 7

1. feg ugs® Tust FI3 T
Butifaa $3° T nigzT wog
TS 96 BET gEfenr famr I |

2. fen u9s® 3 Quway Hus feu
Iz, foardt, o9 H® © 37U &aH
(TStargt, gagst miE ufen
Ugst) m3 g38 It gg-ugst
& HI& AHS J |

3. &7 ugegnsT &, ot HeHs
U ztfonts @A St niafaasT
g5 € W Yyu3 I3 few
AJTE3T JJdT |

fors a5t § TI3fen At 837 T2 .

(a) o=R® 1M3 2

(b) o=H 23 3

(c) o=<H 133

d 1,233

88. foHs FE®T g feurs !

1. Yf3aAT, Jd9®% omar mHg i3t
gt 393 & ufodt et
MIFH T |

2. fem @ fogs 9% © Ieeddl
fewfont feg u3g S8 wie
ISt Hod® 3 Gfee fosamr

Tgnt & AIftM3 J9&T I |
%3 JES 9T -
(a) o= 1
(b) O=H 2

() 1nm3 28
(d) & 1M3 32



89.

Paper |

ICMR published “National Guidelines
Product
Development and Clinical Trials”.

for Gene Therapy
Which of the following statements are
correct about Gene Therapy Product
(GTP) ?

1. It is defined as any biological
entity, having the required gene,
that could

modifications in the genome for

introduce

therapeutic benefit.

2. GTPs work by

replacing or

repairing,
deactivating
dysfunctional disease-causing

genes to restore normal function.

3. As per the New Drugs and
Clinical Trial Rules (2019), the
GTPs falls under ‘new drug’ and
shall always be deemed as ‘new

drug’.

4. Thalassemia, Gaucher’s disease,
Sickle cell
Haemophilia fall

anaemia and
under the

genetically inherited disease

category.

Select the correct answer using the
code given below :

(a) Only 1 and 2
(b) Only 2 and 3
(¢) Only1,2and3

(d 1,2,3and 4

(B-42)

89. WMELHIMHIMG. & ‘e gt @

83ue feam w3 I&@fea®s Irfesd
3T T | Ale gt Usae (At.dhar)
a9 foHs JEaT feg” AIT 98 2

1. feg fez @ e & Jufen
e fefmrsx de 3, 7 Ifa=sAx
gfee ®Et dted feg gwomr
@ AT T |

2. LI ygroadis StHE S96
T Het § HIHS, IEEE A
g H3 AIHIS a9 J |

5. x¥ts ST v SEfas o
fosodt, 2019 wigAg  AT.ZTA
‘a<ts 3dar € U9 feg »BT I
AHSYT Aar |

4. BSAMor, deen I, Ao
A vistHom w3 InfefenT Afex
MO ghrat (inherited
disease) ©F fearst feg wr@e
do |

fors ast § Tg3fent ATt €39 T2 ¢
(a) A=H 1 M3 2

(b) A=H 2 M3 3

(c) o=<® 1,2m3 3

d) 1,2,3n3 4



90. The Prime Minister of India mentioned

91.

Paper |

the mega plan of “One Sun, One

World, One Grid” project in the

Independence Day address. Which of

the following statements are correct

about the project ?

1. It is a transnational electricity
grid supplying solar power
project.

2. The idea of the project was first
introduced in 2018 during the
first assembly of International
Solar Alliance.

3. China was the only member
country to resist this proposal
during the ISA meet.

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only 2 and 3

(¢) Only1and3

(d 1,2and3

The Government of India has oL

constituted National Council for

Transgender Persons. Which of the

following statements are correct about

the Council ?

1. The Council will be headed by the
Union Minister of Social Justice
and Empowerment.

2. The Council is a statutory body
found under Transgender
Persons (Protection of Rights)
Act, 2019.

3. State level and District level
councils for each State will be set
up under this act to address the
grievances of transgenders at
grassroot level.

Select the correct answer using the

code given below :

(a) Only2and 3

(b) Only 1 and 2

(c) Only1and3

(d 1,2and3

(B-43)

90. II3 ¥ YUs H3dT & miet feerm 3

Aeus g3fent “feq mon, fex feme,

fex afds” Aar Yroe @ fggg a3

| fer yree g9 fons faoz aEs

AST I5 2

1. &7 Horl @9 yes o9e U
IHcST famst afds yree I |

2. fem ymoe T fegw 2018 few
ViSITHSST HIH  Afgudr &
ufgst  fegzasT d96  fenrer
famr At |

3. dte dt fea nifggr ¥e9 @7 A
A & MrEt A2, @ fise €96
fer 3ty < fedusT A3t A |

fors st § =I3fent ATt 83T BT .

(a) oO<®H 13 2

(b) o=H 23 3

(c) o=<H 133

d 1,273 3

393 AIAd & I HAASI fenmasnit

BET ITHeST AfAS difes ikt I 1 ferm

JfAw Aadt fors feg' fags I@s At

RIS

1. AHAI fonft »3 niftggsT =
A3 IJar |

2. dfA® <cImAAsd  fonadnrt
(nifaargt € gaftmi) wige, 2019
s IT feg nret fea T3t
Fd6s I |

3. feA woe nidls  ZIHEAST
7B Yug 3 I% a95 &S II
I feg I7 Judt »i3 fagr Jodt
st AETUS SSft ArEdindt |

fors ast § TI3fent At 83T T2 -

(a) oA=H 2 M3 3

(b) A=H 1M3 2

(c) o<H 133

d 1,273 3




Paper |

92. The Ministry of Environment, Forest

and Climate Change  recently
published the draft Environment
Impact Assessment (EIA) Notification,
2020. Which of the following

statements are correct about EIA ?

1. It predicts the effect of a proposed
industrial/infrastructural project

on the environment.

2. It prevents the proposed
activity/project from being
approved without proper
oversight or taking adverse

consequences into account.

3. It compares various alternatives
for a project and seeks to identify
the one which represents the best
combination of economic and

environmental costs and benefits.

4. As per the new notification, Coal
and non-Coal mineral prospecting
and solar photovoltaic projects do
not need prior environmental

clearance.

Select the correct answer using the

code given below :
(a) Only1and?2
(b) Only 2, 3 and 4
(¢) Only1,2and3

(d) Only1,2and4

(B-44)

92, IIRIE, TT M3 ARG UfGTISS

H3T®H & T3S YT HBAS
(Frrete.) wifteesT, 2020 €7 39€C
T% It o9 yai3 ai37 | Ehoret e,

T 99 fors qEs’ feg fxaz AG T ¢

1. feg ERS Swufara/
ffaedHedoP9%  Uide  ©
TIRIE 3 UT TH yIe & yIe
HooT fder T |

2. feg fast eftmi n= y3Iias
fafonmjrde & yes de 3 Jae
J |

3. feg yrae ¥ fefds feamut 3
3eRE I »i3 GF yroe
FoH3 J96 ©f 993 duer J A
f& mirafex w3 T3eIfex s
n3 w3 T 830 A3 ©F yItfeusT
e I2 |

4. &= nifgEgs »ieAS & w3
J9-g»  ufegat & I

(Prospecting) ™3 HIl SIeBA

yriget § yIet T3edfed Hagd
S HI AT

(a) oS 103 2

(b) o<H 2,303 4

() =B 1,203 3

(d) d=eB1,2nmM3 4



93.

94.

Paper |

Recently ‘Decarbonising Transport in | 93.

India’ project was launched by NITI

Aayog in collaboration with

International Transport Forum (ITF).

Identify the incorrect statement.

(a) It aims to develop a pathway
towards a low carbon transport
system for India.

(b) The project will design a
tailor-made transport emissions
assessment framework for India.

(¢) India, Azerbaijan, Nigeria and
Morocco are the participants of
the Decarbonising Transport in
Emerging Economies (DTEE).

(d) None of the above

The United Nations Environment

Programme and International Energy

Agency jointly released a ‘Cooling | 94.

Emissions and Policy Synthesis

Report” (CEPSR). Which of the

following statements is/are correct

about the report ?

1. It is based on assessment of
development and climate benefits
of efficient and climate-friendly
cooling.

2. It lays out actions that can be
taken to deliver efficient and
climate-friendly cooling for all.

Select the correct answer using the

code given below :

(a) Only1

(b) Only 2

(c) Both1and2

(d) Neither 1 nor 2

(B-45)

ST War & T% It feg wizggred

TG SIH (MEt.atnd.) © o s

Starggsfefddr camrude fes fEfsnm

yHde »9g 3T | J%3 JEs of

ASHS &9 |

(a) fem = foger 393 feg ue
g6 TIS YU T I feafhs
FI&T J |

(b) feg ywoe TIst ° foame
UTget ¥ Heds T wisnr
wzTenT 9T 393 Her f3nrg
I |

(c) BsIE niafaas=t feg 393,
vaggfeas,  afeddhT m3
fes SHafdar fedartT
(F.2r.E.5) <9 Hs I8 |

(d €3 feg ast &t

AWSS JHST TI<IE YddH i3

ni399HSST Q9 THAT & HE® &

fouge (A.Stdtoninrg.) adt oSt

3 | fem folee o9 fovs oEst feu

fagsT At I/as 2

1. feT gH® w3 TIRIE NEIS
BT € "By FY w3 feIH
T HoiaE 3 gz T |

2. feg Aot Bt IHS »3 A%y
IS FHI YT's I96 el BT
7 ASE T J9dT 6 TIAG T

a

Jd |
(a) oA=<H 1
(b) =S 2
) 1n3 2T

d 3 1M3 2



95. Which of the following statements are
correct regarding Virtual Water Trade

(VWT) ?

1. It refers to the import and export
of hidden water in the form of
products such as crop products,
textiles, machinery and livestock
which for

require water

production.

2. The concept was introduced by
Tony Allan in 1993 to explain the
import of water intensive

products in arid and semi-arid

regions in the Middle East and

North Africa.

3. The World Water Council is

headquartered at  Marseille,

France.

Select the correct answer using the

code given below :
(a) Only1
(b) Only 2
(¢) Only1land?2

(d 1,2and3

Paper |

95. fors sEs feg faoz TIGNH T

233 (398 9 At T 2

H™J »3 »iIy Hg 833" feg uret
T e % G3uet ©
s & fenrfanr ®ET B

3T

3. fege ud dfAs @ Hy Te39

HIR®, eI feg T |

fors o3t € =93 J9e JT Adt €39

[

g
(a) OB 1
(b) oS 2

(¢c) dA=H 103 2

d) 1,293 3

(B-46)



Paper |

96. Recently, the 15 India-European

Union Summit was held through a
virtual medium. Which of the following

are correct about the summit ?

1. ‘India-EU Strategic Partnership :
A Roadmap to 2025’ was adopted
to guide cooperation between
India and the EU over the next
five years.

2.  Adopted declarations on Resource

Efficiency and Circular Economy.

3. An agreement between
India-Euratom (European Atomic
Energy Community) on research
and development cooperation in
the peaceful use of nuclear energy
was signed on the eve of the

summit.

4. An agreement between Europol
and CBI signed to combat

terrorism and organized crime.

Select the correct answer using the
code given below :

(a) Only1and4

(b) Only1and3

(¢) Only1,2and3

(d) 1,2,3and4

(B-47)

96. T® JF feg Ueasl, 393-gaulls Hass

@ ¥5x (Summit) TIGNE MM

I Wis It | fors fe8 Sox 79

fgaz s A I8 7

1. ‘I93-TrLy. JeaIf3x IEH
2025 3o T ASJ § W% 5 HS
e 93 »i3 Ty, ¥ Afgud ©
Hgdedls 8t niusfenr
famir |

2. AIIT T IHBIT W3 TEAI
WMIEI3T Bt B SETH muse

~

dae |

3. Fod & g3 3 ufo® uIHE
897 T AHET yudr ST e ni3
fesm & Afguar & AHS3T 393

(a) dA=B 103 4
(b) dA=H 1 W3 3
(c) o=% 1,203 3

d) 1,2,3n3 4



97. The Union Cabinet recently approved
the New Education Policy (NEP), 2020.
Which of the following statements are

correct about the policy ?

1.

Compulsory allocation of 4% of
the GDP in Education sector by
the Union Govt.

Aims to bring the uncovered age
group of 3 — 6 years under school

curriculum.

Gross enrolment ratio in Higher
Education to be raised to 50% by
2030.

The policy envisages to set up

Gender Inclusion Fund.

The National
Technology Forum (NETF) to be

created to provide a platform for

Educational

the free exchange of ideas on use
of  technology to enhance

learning.

Select the correct answer using the

code given below :

(a)

(b)

(c)

(d)

Paper |

Only 1, 2 and 4
Only 1,3 and 5
Only 2, 3 and 4

Only 2, 3,4 and 5

97. ITdt U3 Yime & ==t fafimr &5t
(g, 2020 & T® IF U y= e
3T T | fem &St w9 fors sEst feg
o At T 2

1.

JTdt Adard ©nrar ALETAtr. =
4% faftmr Y39 ®E FEA
fsauras |

IS ST MESHHS 3-6 A% GHI ©
gfanit § HI® ©

usgH feg

feg &St B AfHfes (@39
fesaghs) 85 € HEUET IHUS
FIet I |

JHedt  fHftmrr  3Iastel @IH
S EdE.) & IJve &St
A4t 3 7 IASS & YUdT 3%
JfdeHB3T § Tuge ¢ fegaf

-

¥ 596 ¥t fex ugs® Y= 9

A |

fors ast § TI3fen At 83T T2 -

(a)
(b)
(c)
(d)

(B-48)

qeB 1,2 v 4
JH 1,3 M3 5
JqTH 2,3 M3 4

ASH 2,3,4 M3 5
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98. Ministry of Earth Sciences (MoES)

released a report titled ‘Assessment of
Climate Change over the Indian
Region’. Which of the following

statements are true ?

1. It is a first ever attempt to
document and assess climate

change in different parts of India.

2. It highlights the observed and
projected changes in various
climatic dimensions over the
Indian region, their impacts and
various policy actions to deal with

the regional climate change.

3. The Indian Institute of Tropical
Meteorology (IITM) is located at

Coimbatore.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only 2

(c) Only1and3

(d) 1,2and3

(B-49)

98. 3 fefmrs H3TBE MH.8FH.) &

‘F9St U39 few ARy UfdeISs
Hoas HigRx fouge #dt o=t T |
feat feg' faoz™ sws At I8 7

[alil aXel fal

1. feg 393 T fefds sar foo

A%y Ufgedss g9 BuE ni3
H&IE T I8 3% < Ufas w3

a
Jd |

2. f&g 393t 39 feg nidx ABSY
Jugt feg 2ftmit »i3 Jd =&
ufgeassl, 8gt € wAT w3 fem
g3dt ABey  Ufdedss &%
T-TAST M JISAE Frgeremt

fors a5t § TI3fent olx 837 TT :
(a) d=® 13 2

(b) =S 2

(c) o=® 1M3 3

d) 1,273 3



99. The

Paper |

Accredited  Social  Health
Activists (ASHASs), a community-based
functionary under National Rural
Health Mission (NRHM), have been
supporting delivery of health care
services to the last mile, especially
during COVID-19. Which of the
following are the primary duties of
ASHAs ?

1. It counsels women on birth
preparedness, importance of safe
delivery,  breastfeeding and
complementary feeding,
immunization, contraception and
prevention of common infections.

2. ASHA takes steps to create
awareness and provide
information to the community on
determinants of health such as
nutrition, basic sanitation and
hygienic practices.

3. It works with the Village Health
and Sanitation Committee of the
Gram Panchayat to develop a
comprehensive village health
plan.

4. ASHA provides primary medical
care for minor ailments such as
diarrhea, fevers, and first aid for
minor injuries.

Select the correct answer using the
code given below :

(a) Only1,2and3
(b) Only 2, 3 and 4
(¢) Only1,3and4
(d 1,2,3and4
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99. nJJEes FA% JIBE Wadfee

(EMANMTENA.), TASH UF fFIUB’
UfguasT (Emang i) s
e vofas Jfde, g3 As™
ARt §, ferA 39 3 3fes-19 &9%
vydt HI® 33 udo® &S ATEsT
FIe IJ I5 | fEat fog” fxagni® nimr
IITT Tt Hy ffH=gntt g 2
1. feg 7y & f3nrdt A9,
ASftmi3 A6 © HI3T, IJAC
fsaT w3 Afgwdt  yIw,
IS, I98 JIEH WS MTH
fesedAs’ ©f JEH ASUT nigs3t
$ AT fée I3 |

2. MHT HYSET BTN vi3 AHETE §
g3 © 996 A< fa yge miara,
gloml ASE3T, FeE ygel ©f
96T Y6 JI6 BT JeH gder
N

3. feo fiz &t fAos < femfzs
gAer feafis o9& &t IH
Uerfes & Uz Aoz »= ARes
NSt 3% oIH et J |

4. AT 22 3491 fAaT TA3, gut9 ni3
AdTfEsT fegt I |

fore a3t @ =93 Igfent ATt €39

gs

(a) o=*® 1,23 3
(b) o=RH 2,3 M3 4
(c) o=% 1,3m3 4
@ 1,2,3mM34



100. The Government of India announced | 100. 393 FIXT & BIHEY THII §

linking of Lakshadweep Islands with MUdla® oy E® fBx Irdt vy
the mainland through Optical Fibre U9t 5% A6 BT MBS 3T J |
Cable link.

fors feo fogz sgs AT /5 ¢
Which of the following statements

is/are true ?

1. ®IAEY € 11 Fgrtfontt &, Aded

6% »Udla® ofead  oF®
1. The submarine optical fibre cable . y -
B, Hd I93T U93T &% dof
link will connect 11 islands of

Lakshadweep with Kochi in e !

mainland India.

9. feg yEwe R, fedt

2. The project will be executed in feg CIRZ 1RO TRATCH 1 ES
PPP mode through a joint IS, T Huas nifsnrs
venture of BSNL and RIL.

It ST ST ALA |

(a) Only1

~

(a) d<® 1
(b) Only 2

~

(b) dA<TH 2
(¢) Both1land?2

(¢ 1m32ex
(d) Neither 1 nor 2

(d) & 1M3 32

Paper | (B-51)
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